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Chapter Review Practice

m Solve Compound Inequalities pp. 380-387 |

Solve —1 < —2x + 7 < 9. Graph your solution.

—1<—-2x+7<9  Write original inequality.

—-8<—2x<2 Subtract 7 from each expression.
4>x>-1 Divide each side by —2. Reverse both inequality symbols.
—-1<x<4 Rewrite in the forma<x<b.
» The solutions are all real numbers ; L \ . .
- I $ Ll L L Ll $ 1 =
greater than —1 and less than 4. 2 1 0 1 2 3 4 5
EXERCISES
: EXAMPLES Solve the inequality. Graph your solution.
3’4’a“d5 ....... 20. —-6<2t—5< -3 21. -3<—-3x+8<11
i on pp. 381-382 T - PoYS AT es
: for Exs. 20-23 22. 9s—6<120r3s+1>13 23. 4w+ 122100rb5w — 14 > —4
m Solve Absolute Value Equations pp. 390-395
| Solve 4|5x — 3| + 6 = 30.
First, rewrite the equation in the form |ax + b| =c.
4|5x — 3| +6 =30 Write original equation.
4 | 5x— 3 | =24 Subtract 6 from each side.
|sx - 3| =6 Divide each side by 4.
Next, solve the absolute value equation.
5x—-3=6 or 5x—3=-6 Rewrite as two equations.
5x=9 or 5x = -3 Add 3 to each side.
x =18 or x=—-0.6 Divide each side by 5.
» The solutions are —0.6 and 1.8.
EXERCISES
: EXAMPLES Solve the equation, if possible.
ACET UL Ir| =7 25. |la+6| =2 26. |2c+5] =21
i onpp.390-392 | < 1"l = - 1a - - 1ee -
i forExs.24-30 | 27. 2|x-3| +1=5 28. 32g+1| —5=1 29. 4|3p—2| +5=11
30. BOWLING In tenpin bowling, the height of each bowling pin must be 15 inches
with an absolute deviation of 0.03125 inch. Find the minimum and maximum

possible heights of a bowling pin.
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